a) The value of Michelle’s car has decreased by 15%.
The car now has a value of £13 600.
Work out the value of Michelle’s car before the decrease.

What percentage
of the value of

0fs — 0fy — 0
Michelle’s car 100% —15% = 85%

remains? . x20
What does this 85% e 5% 100%

percentage

represent? £13 609 a £800 £16 000

~w 7
What was A %20
Michelle’s car £16 000
worth?

b) The value of Michelle’s car has decreased by 20%.
The car now has a value of £13 600.
Work out the value of Michelle’s car before the decrease.

What percentage
of the value of

o) — 0fy — 0
Michelle’s car 100% — 20% = 80%

remains? Ly
I/-\)
What does this 80% 20%
percentage
represent? £13 600 £3 400
~L=7
What was =t
Michelle’s car
worth?

c) The value of Michelle’s car has decreased by 12%.
The car now has a value of £14 520.
Work out the value of Michelle’s car before the decrease.

What percentage
of the value of
Michelle’s car

remains?

100% — 12% = 88%

What does this
percentage
represent?

What was
Michelle’s car
worth?

d) The value of Michelle’s car has decreased by 5%.
The car now has a value of £15 390.
Work out the value of Michelle’s car before the decrease.
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